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ability /a'bil.o.ti/ n. Cobls (o Llgd

I think Tom doesn’t have the ability to solve the problem.
i |y altace ol o lgi ol 035, o S
absolutely / zb.so'lu:t.1i/ adv. oo Sbols’

It is absolutely necessary that you attend the meeting.
Subly 2N gt Al 13 Lot oS el (65950 SlS

access /'zk.ses/ n. v. 4 Cydwy =Y oy )

All the students of the university have access to the university library.
1S oy olRsls Bl a4y oBils ol lgiils plos

amount /2'maont/ n. Ol 5l

The amount of time spent asleep can vary from person to person.

Akl 3,8 s pand 4 pand | Wl o SleS o 0 eaidie (o) e
appear /opir/ v, sty y5 a1 (8l HLacs] [a s (OUST =Y pand s cad Hlagay oy 55T -
As soon as it stopped raining a beautiful rainbow appeared.

ey Loy GleS5eS) o el @lad L Sl Gae o
available /5'verla.bal/ adj. O pwd 53 D990

There were no tickets available for Friday’s performance.

295 39790 (Sl g dnez 2l Sl
belong /br'lam/ v. 0055 @ b () cpuiols Glay

You shouldn’t take what doesn’t belong to you.
Sylad ales Led ay aS 0y o |y (i Wil

broadcast /'bra:dkest/ v. n. (PSS jw (a1 [anli] =Y (40,5 Jidu [o92 290 9 9290, 51 -)
oy [9r m ol cguoly yo] -

The match will be broadcast live on Channel 3.
A dles sy ondy ¥ aASS Sl At

certainly /'s3:r.ton.li/ adv. {akas ‘Lu.a.; Ll ey S

“This is a rather difficult question.” “Yes, it’s certainly not easy.”
s (3o Lobes calyy @Cansl &lgns [ g cply

choose /tfu:z/ v. RETI NN L JENVET NURNNT U PEe P\

Parents can choose the schools that they want their kids to go to.

S bl gy [rol] @ lisloaz wialss oo a5 |y loansne aiilsi oo Lajols 5 4o
communicate /ko'mju:nekert/ v. 50,5 EM (cyailuy [leMbl (ol ¢ o | - Y (58,5 polod (30,5 51,80 LSl -)

Language is the means by which people communicate with others.
S oo 5l BLE Lo b ol Gosb 5l poye oS sl (gf5 L5
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682. We don’t have a lot of money, but we have enough to buy what we ......... need.
1) hardly 2) honestly 3) nearly 4) absolutely
683. Since I haven’t ......... an answer, I was wondering if maybe my mail never got delivered to you.
1) received 2) exchanged 3) experienced 4) escaped
684. These magazines cover all kinds of popular subjects ......... motoring, gardening, photography and sports.
1) such as 2) even if 3) besides 4) despite
685. We are still looking at the candidates’ CVs before deciding who to ......... for interview.
1) provide 2) invite 3) value 4) explain
686. Urban Gate is one of my ......... restaurants, partly for the food but mainly for the atmosphere.
1) valuable 2) favorite 3) similar 4) fortunate
687. The class was divided into four teams, and each group was asked to ......... a leader.
1) hold 2) sign 3) give 4) pick
688. Having been brought up in America, my father speaks English ......... — he speaks like a native speaker.
1) fluently 2) possibly 3) powerfully 4) regionally
689. The ......... who discovered hepatitis B and its vaccine was an American named Baruch Blumberg.
1) researcher 2) foreigner 3) interviewer 4) broadcaster
690. The water in this area contains a small .......... of calcium and other minerals. i Lo oo
1) effect 2) amount 3) account 4) number
691. It’s my fault that the cake burned. I was talking on the phone and didn’t .......... the time.
1) appear 2) value 3) notice 4) respect
692. Scientists have calculated that the world’s population will double by the end of the 21st .......... .
1) hundred 2) thousand 3) decade 4) century
693. She is .......... , but refuses to let her disability to hear prevent her from doing what she wants to do.
1) weak 2) smart 3) quiet 4) deaf
694. A: “How many scientists took part in the conference?” B: “......... 50 ones.” 4y oL
1) Mostly 2) Nearly 3) Primarily 4) Immediately
695. In Japan, smiling may express a/an .......... of emotions, including happiness, anger, confusion, or even sadness.
1) means 2) area 3) range 4) order
696. You’re the only person I know .......... me who is actually interested in this kind of thing.
1) beyond 2) despite 3) such as 4) besides
697. The Environmental Research .......... found that the global average temperature has risen by 1.2°C.
1) Broadcast 2) Knowledge 3) Institute 4) Exchange
698. We were late getting to the airport, but ......... for us, the plane was delayed. i LAY Lol
1) luckily 2) basically 3) certainly 4) suitably
699. As I was walking home through the park late at night, I could hear the sound of ......... following behind me.
1) patterns 2) visitors 3) means 4) steps
700. My mother always told me I would be able to do anything I wanted to do if I put my ......... to it.

1) means 2) notice 3) ability 4) mind
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701. When I was younger, I never ......... money but now that I’m a little older and wiser I can see the sense in it.
1) saved 2) followed 3) received 4) exchanged

702. You should take careful note of what she tells you because she knows their ......... well.
1) strategy 2) comprehension 3) emotion 4) addition

703. This book will be useful to anyone who wants to ......... their memory and logical thinking.
1) communicate 2) continue 3) improve 4) endanger

704. She had an uneasy ......... that something terrible was going to happen, and therefore couldn’t concentrate

on her work.

1) notice 2) sign 3) feeling 4) ability

705. Surveys show that millions of workers use their office computers to play games, ......... the Net or watch movies!
1) follow 2) seek 3) exchange 4) surf

706. Ididn’t really understand the math problem at first, but my friend ......... it to me, and now it seems pretty clear.
1) explained 2) developed 3) broadcasted 4) communicated

707. Many international organizations hope that wind ......... will meet around a third of total electricity demand
by the year 2050.
1) ability 2) region 3) value 4) power

708. BY ..cceueee of photosynthesis, plants convert the radiant energy of the sun into chemical energy.
1) range 2) means 3) form 4) skill

709. Last year, I spent so much time by myself that I almost forgot how to ......... effectively with others.
1) explain 2) communicate 3) respect 4) improve

710. We must be sure that we are taking the necessary ......... to prevent the problem from getting any worse.
1) orders 2) kinds 3) notices 4) steps

711. This course is designed to develop the skills and ......... which are important to information technology
professionals.
1) facts 2) values 3) abilities 4) regions

712. Most children in the UK remain in full-time education until they are ......... 16 years old.
1) at least 2) therefore 3) mostly 4) besides

713. The rights of the individual are the most important rights in a free ......... .
1) society 2) population 3) value 4) interview

714. Scientists have noted that young children can learn new words in their native language at an amazing rate.

“Amazing” means .......... .
1) cultural 2) additional 3) popular 4) wonderful
715. We are quite busy today, but I’ll see if I can ......... a meeting for some time tomorrow morning.
1) exchange 2) appear 3) broadcast 4) arrange
716. Some deaf children are very skillful at ......... language, and they can also spell out words using fingerspelling.
1) deaf 2) point 3) means 4) sign
717. The national anthems of the teams are played at the ......... of a big international football match.
1) explanation 2) tradition 3) experience 4) beginning
718. The police are seeking two masked men for robbing a number of banks in our town. “Seeking” means.......... .

1) looking up 2) looking after 3) looking for 4) looking at
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e oS aseden |y bagy ] oo 85 L 580 olows iyl slacis g olael 5l ooliul
tree (cs,0) = a tree (¢ o)/ five trees (cayo zu) / a few trees (co,o b aiz) 4 ..
man (s,.) => ONe Man (s,0 <) / SOME MeN (5,0 solass) / twenty-five men (o0 g 5 o) 5.
City (o) = a City (o <)/ some cities (o solows) / lots of cities (ol sloyd) 5 ..
elephant ( %) = an elephant ( L5 ;) / many elephants (sob; sla J.3) / three elephants ( Lé b aw) 5 ...
mistake (sLzl) = a mistake (oLeezl S0) /1 several mistakes (olocsl wix) / many mistakes (osleusl ol slass) g ...
plgiisns 5 mrSise A58 29 Do |y lapl A )l el (50bj Jlem olass s slagly ales o 1hledd Jird bl (@)
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S8 o)Ll 5,50 s aualys Lisl Loyl b aslol jo a5 ohyleds glacias b (g a5 (ylxid (o cducS o) Lings 4 pgase laazly 5l eolaiul
Sl LELE (oS solicial () /AN 31 lay] 51 LS el sad Linas oy et ilosd e Wael ol 9 45 0l lily s quio oo
e i g S L1 lagl b oo y0 54 | (. g three two one)
water (o)) = a glass of water (o] s )/ some water (ol slaie) / little water (G Sl jlads) g ..
aS Ol 1o Water ;yog oyled BB (alds b, 154 a water o)les JB,é ol 51 L3 @ glass of water o )le ,o ain oo 510K
ol (sl £ 5l5a)) 1SS w3yl LB Ll 50 a5 samsl T el o B e 45wl so saeiin SholS”
rice (z,) => three kilos of rice (i, 5LS 4.) / @ bag of rice (i 4nS ) / SOME TiCE (i (5)lake) 5 ..
bread () = a piece / slice of bread (i <5 ) / a loaf of bread (b »,5 <)/ a little bread (;,b Sul jlase) 4 ...
wood (wsz) / a piece of wood (wsz 4S5 ) / seven pieces of wood (g a5 i) 4 ..
5195 Ghlad BBy sl 15l ot s oS y5b &
(.. ymilk blood smoke air coffee tea dce water) clasl> 5l can g b5 wlule -
(. g salt xice SUGA) o Sice 1 ;0 (29,5 Sygo 4 |, o] a5 oS Jlows slaails 5 I3 51 oo JSiis slge
(.. g software dinformation Jove happiness) o) J5,é 5 clysl punloo — 1
(.. s soup butter meat bread) ¢ slge 5l am —F

(.. g s0ap dron paper wood) ol bl 5 slge Sy 0
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ansls OB, & el s a5 Lol sl a3 ol b Ll 5 Lol oyt Ll by T fem b Lo s 13 5 ol _5Vshs Lol (sl oy sl

s e Lol
20 9 oyl BBy) sley 90 (ol e s s
) e oyleds BB e
(oylods BB (35190
coffee Sy onl ple popdn o50d ool | plwid iz b SO
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sugar 55 ol g S 30l &5lal 4 )
(o g 5555y 35605) 0B aliseo glgil -
chicken (& o SgSY (Sxo )0 (E o) (G )
hair S Sy 4 ge o o bSO
aabjgn (e y> )
paper XSy Fxo o
(e «Syae bl (3l e o =Y
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If I drink too much coffee, I can’t sleep. (s @57 pS Rivsly 09f 5U; b S

DS o gz S g ol yleds JByad iy S 4 0943 ple pagie 10 ol yo coffee o

Could you bring us two coffees, please? a9l 0999 U 95 o (sl Gh) ol hon
i go 1) )] easlgr co g el hyleds BB el oged lauidy 5l 5le ¢ Sladl liwgs Jg a5 coffee il jo oo
Is there any room for me in the pickup truck? Scums b ¢ (sl cily 5

DS oo pax S g Sl jleds BBpe s (IS4 (> Lady e o TOOM Loyl jo 9>

e

1 \\\

Our house has four rooms: the kitchen, bedroom, bathroom and living room.

s GU g Plas wlgh GUT BT 15,1y GUI lga bo U6

5555 o ez S Wil e s 5 sl il B L e0,1s o)L s (sla 31 4 TOOM Lr sl ) cys2

Lb'o.wl BV
B3 LT sl st o8 ot B (slare] olsic 145 s5blod g g s Gl Mt 5 iolos JB 53 39 & e (slaro 45 os2iS
£55 ool sl Sglice Mol ilods 1B yeé Lol ol Lol ot Lasetn |y oy onn 85 b (3239 Slowd puilyiso 5]y 4 g ot 3ylads L3
e S5 53 S Sy ) iag o launy 5 b 51 sl el |y Lol ol bl 51 g it iylacs 5 Lol oy
ipeSisr son Bl oo Giled JBred b (Lot BB slie 2 1) bl (03508 (sla g, o S kel aslal )0 puS osliiul (g (Sl

»

(Ul B slagu! waasca) bL\.:l_
e a3 a5 308 S sl 51 o el palian LS S a1 az oS patetia |y led B ol S0 (355 Slass manlyn s
tree (cs,0) => one tree (e, ) / seven trees (e b cae) [ seventy-five trees (ca,o b my g olian) ..
oS on oy |y olael &b bgs o (slaaiSS caslol 1o Loy Ll lag T b ol Leis g aiylo olagyliwls (ylasgs lp oo lasas  aucdSSl o)L 5o Ll
25 0k 1y o] e (555 w0l o Led g adyls (ol JSCi 00595 5 S olael
one (<) / two (g0) / three (aw) / four (Gla) / five (@) / SiX (Las) / seven (cas) [ eight (cus) / nine (£) / ten (o) /
eleven (oo;L) / twelve (os5l50) / thirteen (eoj) / fourteen (oo, / fifteen (eopl) / sixteen (es3ls) / seventeen (oasa) /

eighteen (ou=s) / nineteen (oo;43) _

twenty (cw.w) / thirty () / forty (Jez) / fifty (olxs) / siXty (coas) / seventy (sliae) / eighty (slize) / ninety (545
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787.1 need to buy ......... presents for my family but I don’t have ......... money.

1) many / many 2) much / much 3) many / much 4) much / many
788. Adam returned from the kitchen with ......... and sat down next to Mary.

1) two cups of coffees and a piece of cake 2) two cup of coffees and a piece of cakes

3) two cups of coffee and a slice of cake 4) two cups of coffee and a bar of cake
789. A: “Are you going to buy that jacket you saw last week?”

B: “No, I’ve only got ......... money left, so I can’t afford it.”

1) afew 2) few 3) little 4) a little
790. Which of the following is grammatically correct?

1) There are forty-one teachers and about eight hundreds students in this school.

2) There are forty one teachers and about eight hundreds students in this school.

3) There are forty one teachers and about eight hundred students in this school.

4) There are forty-one teachers and about eight hundred students in this school.
791. There won’t be ......... people at our wedding because we just want our closest friends to come.

1) many of 2) too much 3) any 4) many
792. When I went to Paris I visited ......... , but I didn’t go to ......... .

1) many museums interestingly / many art gallery 2) some interesting museums / any art galleries

3) a few interesting museums / much art gallery 4) few interesting museums / few art galleries
793. Which of the following is grammatically correct?

1) The neighbors play their radio in their yard every afternoon loudly.

2) The neighbors play their radio loudly every afternoon in their yard.

3) The neighbors play their radio in their yard loudly every afternoon.

4) The neighbors play their radio loudly in their yard every afternoon.
794. She sent ......... postcards to her friends, but she didn’t make ......... phone calls when she was in Britain.

1) some / lot of 2) a few / much 3) some / any 4) much / any
795. I wantto do ......... during my holiday, so I am taking ......... books with me.

1) some serious reading / a few 2) a few serious readings / few

3) some serious readings / a few 4) few serious reading / few
796. We’ve got ......... for you. We’re getting married.

1) an amazing piece of news 2) an amazing pieces of news

3) an amazingly news 4) a news piece amazingly
797. When we got to the beach, ......... people were already there, and we couldn’t find ......... to sit down.

1) many / a place 2) a lots of / a place 3) many / place 4) a lots of / place
798. It’s a great pity, but the hospital has ......... medicine. They can’t help ......... people.

1) few / many 2) little / few 3) few / few 4) little / many
799. Try to break the habit of adding ......... to your ......... at the table.

1) salt / food 2) salts / foods 3) salt / foods 4) salts / food
800. He has .......... free time. He hardly ever even manages to call his mother!

1) a little 2) few 3) afew 4) little
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801. Paul speaks ......... , but for his job, he only translates into his native language.
1) fluent several of languages 2) fluently several languages
3) several of language fluent 4) several languages fluently

802. Which of the following is grammatically correct?
1) We got stuck in traffic jam, which made us forty five minutes late.
2) We got stuck in a traffic jam, which made us forty-five minutes late.
3) We got stuck in traffic jam, which made us forty-five minutes late.

4) We got stuck in a traffic jam, which made us forty five minutes late.

803. There’s ......... news about my sister in the e-mail, but there is ......... about my brother.
1) a few / no informations 2) some / any informations
3) a few / any information 4) some / no information
804.1 have ......... , so please try to say what you have to say in as ......... as you can.
1) very few times / a little word 2) very little time / little word
3) very few times / few words 4) very little time / few words
805. I have a sweet tooth. I like ......... very much. I eat ......... ice cream.
1) sugars / a little 2) sugar / little 3) sugars / a lot 4) sugar / a lot of

806. Which of the following is grammatically correct?
1) Jim always doesn’t get up early, but always he gets up before Mary does.
2) Jim doesn’t always get up early, but he always gets up before Mary does.
3) Jim doesn’t get up early always, but he gets always up before Mary does.
4) Jim doesn’t always get up early, but he gets always up before Mary does.

807. There’s ......... milk left in the fridge. It should be enough for our ......... .
1) little / three coftee 2) a little / three coffees 3) little / three coffees 4) a little / three coffee
808. Ryan had ......... on his mind that he couldn’t concentrate on anything anymore.
1) lots of 2) so much 3) so many 4) too many
809. He has ......... education. He can’t read or write at all, and he ......... hardly count.
1) little / can 2) few / can 3) little / can’t 4) a few / can
810.A......... contains the same amount of caffeine as two ......... .
1) fifty grams bar of chocolates / cups of coffee 2) fifty-gram bar of chocolate / cups of coffee
3) fifty-gram bars of chocolate / cup of coffees 4) fifty gram bar of chocolates / cups of coffees
811. There areonly ......... programs on television that I want to watch. I prefer to download ......... orread......... .
1) few / film / book 2) a few / a film / a book 3) few / a film / a book 4) a few / film / book
812. When I got home, there were a ......... of water, a ......... of bread, and ......... milk on the kitchen table.
1) piece / piece / much  2) bottle / piece / some of 3) bottle / loaf / some 4) piece / slice / some
813. There was ......... inside the sauna that we had to go out and have a shower.
1) so many heat 2) so much hot 3) so much heat 4) so many hot
814. At home, the kitchen was a pleasant place. ......... .
1) There were always a few flowers in a vase 2) Many flowers there were always in a vase
3) In a vase there were always a flower 4) There were always too much flower in a vase
815. 1 don’t have a lot of free ......... , but I have cleaned up my desk a couple of ......... .

1) time / time 2) times / times 3) times / time 4) time / times
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Cloze Passage 1)

The advantages of some form of international language in the modern world are obvious. Thanks to modern

methods of transport, we can ......... everywhere more easily and more quickly 363, ever before, but the language

problem still remains. 566, a common language, misunderstandings arise, and there can be no real contact

between people of different 567 . There are two possible solutions to this problem: either we ........ one of the
existing major languages of the world, or we make up an artificial one. But neither solution is simple because no
existing major language will be acceptable to everyone, and because an artificial language, such as Esperanto,

has no literature and would be thought dull by many learners.

1) wonder 2) return 3) travel 4) attend
D 1) from 2) of 3) than 4) by

1) Without 2) Rather than 3) Besides 4) Beyond
Gl 1) experiments 2) nationalities 3) developments 4) contrasts
1) range 2) translate 3) choose 4) invent

. éloze Passage 2)

Language may have started in one place and spread from that place. Or it may, 369, , have started in several
places. In any event, if the people of the world had been .79 in touch with one another all through their history,
we might now have had only one language. .57 mountains and seas .5/Z%. people apart. Today there are more
than 1,000 languages. Some are spoken by many millions of people, 873, by only a few thousand. _u_Af Ll

1) so far 2) instead 3) unless 4) besides
@ 1) closely 2) briefly 3) silently 4) softly
XA 1) But 2) Therefore 3) Although 4) While
XA 1) took 2) made 3) kept 4) looked
GEF) 1) another 2) the other 3) an another 4) others
. éloze Passage 3)

Over the past 600 years, English has grown from a language of 374, to become the dominant language of
international communication. .5... the 1600s, English was, for the most part, spoken only 876, England and had not
extended even as far as Wales, Scotland, or Ireland. However, during the course of the next two 877, , English began

to spread around the world as a result of exploration, trade (including slave trade), colonization, and missionary work.

Thus, small enclaves of English speakers became established and grew in 878, parts of the world. As these communities

proliferated, English gradually became the primary language of international business, banking, and diplomacy.

@ 1) too many speakers 2) a lot of speaker 3) many more speakers 4) a few speakers
EEM 1) Until 2) After 3) Among 4) Across

(376 BYE: 2) on 3) over 4) in

GZ&D 1) thousands 2) hundreds 3) centuries 4) millennia

1) national 2) domestic 3) ancient 4) different
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aloze Passage 4J
The ability to talk is one of the skills that makes humans different from the rest of the animal world. Although
some animals communicate with gestures, human speech is much more highly ......... . In English, for example,
most people ......... about 5,000 words in talking, and 10,000 in writing. A language is a way of organizing spoken
sounds to ......... ideas. Human language developed over ....7. , and people in different countries use different
languages. Some languages share words with the languages of 583 countries. For instance, book is libro in both

Italian and Spanish, and livre in French; in English we get the word library from the same source. There are now

some 7,000 different languages and many dialects — local versions of major languages.

GXP) 1) invented 2) developed 3) protected 4) measured
1) using vocabularies of 2) use vocabulary from
3) use a vocabulary of 4) using vocabulary from
1) express 2) point 3) plan 4) hold
1) thousands of year 2) thousand of year
3) thousands of years 4) a thousands of years
1) domestic 2) nearby 3) imaginary 4) hospitable

éloze Passage 5)
When people first began to write, they did not use an alphabet. Instead, they drew small pictures to represent
the 552, they were writing about. This is called picture writing, and it was very slow because ......... a different
picture for every word. An alphabet does not contain pictures. Instead, it is a/an ......... of letters or symbols that
represent sounds. Each sound is just part of one word. Joining the letters together forms a whole word. The
......... voice can make about 35 different sounds in speech. So alphabets need at most 35 letters to write any word,
and most alphabets manage with fewer. The Phoenicians, ......... about 3,000 years ago in the Middle Eastern

country now called Syria, developed the first modern alphabet. The ancient Greeks adapted the Phoenician

alphabet, and later the Romans improved it. The Roman alphabet is now used widely throughout the world.

1) values 2) objects 3) technologies 4) numbers

1) it was 2) they were 3) there was 4) there were
1) collection 2) knowledge 3) experience 4) existence
1) national 2) domestic 3) creative 4) human

1) that live 2) when lived 3) who lived 4) which lived

.
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Grammar and Vocabulary
925. Which of the following is grammatically wrong?
1) “Would you get me a cup of coffee?” “Sure, I’d be glad to.”
2) You have a choice of black tea, coffee, or milk.
3) Could you bring us two coffee with milk, and two herbal tea?
4) You’re the only one here who drinks coffee without sugar.
926. This is ........... . There’s a strong chance that tornadoes will form over the next .......... hours.
1) a severe weathers warning / twenty four 2) a severe weather warning / twenty-four
3) severe weather warning / twenty-four 4) a severe weather warnings / twenty four
927. There’s a .......... in the fridge for you. And I bought you a ........... .
1) liter of milks / bar of chocolates 2) liters of milks / bars of chocolates
3) liter of milk / bar of chocolate 4) liters of milk / bars of chocolate
928. A: “Shervin is fluent in Italian, French and Spanish.”
B: “It’s quite rare, .......... >
1) a few foreign languages few people can speak 2) many people can speak several foreign languages
3) most people can speak many foreign languages 4) few people can speak several foreign languages
929. Rescuers are still .......... the waters off Newfoundland for survivors of yesterday’s sinking of a Peruvian
cargo ship.
1) searching 2) ranging 3) protecting 4) broadcasting
930. Next time I switch jobs, I need work that will let me make use of the .......... I’ve gained up to now.
1) communication 2) imagination 3) experience 4) addition
931. Heis a/an .......... member of the team; without him, we probably would have lost the game.
1) appropriate 2) valuable 3) absolute 4) fluent
932. Bright stars appear bright simply because our eyes .......... more energy per second from them than from
faint stars.
1) receive 2) develop 3) create 4) surf
933. The more familiar you are with a foreign language, the more .......... you will be about using it in public.
1) confident 2) fluent 3) familiar 4) suitable
934. 1 wanted to .......... my skills, so I joined a weekend course in “Listening Techniques” at the University of
Tehran.
1) protect 2) improve 3) exchange 4) express
935. He does a lot of .......... activity at work, so when he goes home, he likes to relax by reading or watching
television.
1) familiar 2) natural 3) informational 4) physical
936. Unfortunately, the rainforests are .......... at the rate of tens of thousands of hectares a day.

1) receiving 2) disappearing 3) changing 4) developing
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Cloze Test

Using words isn’t the only way we say things. By leaning forward, narrowing our eyes, and folding our

arms, we also 231 feelings. With as much as 70% of what we say coming from this type of non-verbal

communication, it’s clearly .235.. to be aware of our body language. That’s especially true when dealing with

people from other 239, , since a smile in Baltimore may not mean the same as a smile in Beijing. There are ......... 5

With gestures, we use our arms and hands to show moods, ask questions, and share 241 . Our faces are very

expressive, with more than 90 muscles working to send messages of surprise, happiness, anger, and so on.

@ 1) communicate 2) protect 3) increase 4) realize
938 B} meaningless 2) important 3) fortunate 4) energetic
@ 1) aspects 2) moments 3) agents 4) cultures
CIN) 1) a few type of body languages 2) many types of bodies languages

3) several types of body languages 4) few type of bodies languages
@D 1) an information 2) informations 3) the informations 4) information

Reading Comprehension

“Passage [V

In the late 1990s, 90 percent of worldwide Internet traffic was in English. In addition, websites, software used
to navigate the Web, and search engines, for the most part, all used English. Because of this apparent threat,
several nations initiated legislation to create quotas to control the content and number of Internet services.

However, since the 1990s there has been a proliferation of non-English languages used on the Internet.
According to Global Reach, an Internet marketing company, English online users are 35.6 percent, users of
European languages other than English 34.9 percent, and users of Asian languages 29.4 percent. Accordingly,
the number of search engines, websites and software written in other languages has also proliferated. This would
seem to refute the idea that the US and English dominate the Internet scene.

However, it might be too soon to understand the real impact of the Internet. African languages, for example,
are rarely mentioned in the statistics, and the question of how accessible computers really are to the majority of

the world’s population may need to be asked before we reach any conclusions.

942. Why did several nations begin to create quotas?

1) They wanted to control Internet services. 2) They needed to make money.

3) They wanted to ban English on the Internet. 4) They were protesting US policy.
943. What percentage of Internet users use European languages other than English?

1) 35.6 percent 2) 29.4 percent 3) 34.9 percent 4) 25.7 percent
944. Why might it be too soon to understand the real impact of the Internet?

1) The studies are unreliable. 2) It does not account for all languages.

3) More people are learning English. 4) There is no Internet in Africa yet.

945. What question does the author say might need to be asked?
1) How much money do people really make? 2) How much do computers really cost?

3) How many people understand English? 4) How many people have computers?
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i Passage /2 I

The sheer number of people in a group affects the amount of communication. Consider the difference between
communication between two friends and communication in a group of five people. When friends talk, there are
two people sending and receiving messages. In a group of five, there are five people doing the same thing. Each
idea that is expressed must be understood by four others, who may also choose to respond. Consequently, the
greater number of people in a group, the fewer contributions any individual may make.

Because there are disadvantages to large groups, you might assume that small groups would be more effective.
However, groups can be too small or very large with more than 100 members. With 100 members, a group has
limited resources, which eliminates a primary advantage of groups for decision-making. Also, in very small groups,
members may be unwilling to disagree or criticize each other’s ideas. I believe that five to seven members is the

ideal size for a small group.

946. We can conclude from the passage that in large groups .......... .
1) there is always a chaos at the end of each discussion
2) before a decision is made everyone has to express their ideas individually
3) everyone is free to express their ideas as much as they want

4) there is less opportunity for each person to speak

947. The word “consequently” in the first paragraph is closest in meaning to .......... .
1) however 2) on the other hand
3) instead 4) as a result

948. According to the passage, small groups .......... .

1) are always more successful than large groups in terms of decision-making
2) can have some disadvantages as well
3) express their criticism more freely than large groups
4) are unable to make a decision at the end of discussions
949. The author of the article suggests that .......... .
1) the number of people in a small group must not be more than five
2) large groups are always superior to small groups
3) the ideal size for a small group should be five to seven

4) small groups are better as members of them have a chance to criticize each other
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